Government of India
Ministry of Defence
Ordnance Factory Board
10A, S.K. Bose Road
Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s UNIQUE FORGE GUJARAT PRIVATE LIMITED, SURVEY NO. 240, KISHAN CIMENT GATE, BEHIND
G.E.B. SUB STATION, SHITLA MATA MANDIR ROAD. VILLAGE - SHAPAR, DIST - KOTDASANGANI, CITY - RAJKOT Guijarat is
registered at Ordnance Factory Board for following Items.

Sl. Factory / Unit Item Nomenclature Initial Date of

Registration

1 Ordnance Factory Medak BRACKET TO DRG NO. 765-33-50-2K][33] 11-09-2018

2 Gun Carriage Factory BUSH OUT RIGGER TO DRG. NO. 31-10-2018
M2/BOF-6105892[90]

3 SUB ASSEMBLIES & COMPONENTS OF 120 MM 16-01-2019
MORTAR AS PER DRAWING[90]

4 SUB ASSEMBLIES & COMPONENTS OF 81 MM 16-01-2019
MORTAR[90]

5 RING FORGING TO DRG. NO. GCF/FH-257 20-10-2022
(2025046)[90]

6 9069111896 FORGING DRAWING FOR PIVOT TO | 20-10-2022

DRG NO REF DRG NO 3015305 GCF LM 1076 B[90]

7 9069111916 FORGING DRAWING FOR LEG TO 20-10-2022
DRG NO GCF LM 1065B REF DRG NO 3015284[90]

8 ITEM CODE 9081001012 FORGING BLANK 20-10-2022
CONVERSION THROUGH RING ROLLING TO DRG
NO 5169122D MATERIAL WILL BE SUPPLIED BY

GCF[90]
9 Vehicle Factory Jabalpur TEE PIECE M18 X 18 X 18 60 DEG[90] 08-12-2018
10 ELBOWI[90] 08-12-2018
11 Spring Washer M 12 B[90] 08-12-2018
12 Spg Washer M 16[90] 08-12-2018
13 Spg Washer M 18[90] 08-12-2018

Page 1/14



14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

41

42

BRACKET FOR AXLE LAMP[90] 08-12-2018
Spg Washer m 8[90] 08-12-2018
Conical Washer[90] 08-12-2018
WASHER SPECIAL PART NO F4931410[90] 08-12-2018
STRAP END BOLT[90] 08-12-2018
TAIL PIPE SUPPORT[90] 08-12-2018
BKT FILTER MTG[90] 08-12-2018
BRACKET AGBJ90] 08-12-2018
SUB ASSY OF STRAP FUEL TANK MOUNTING[90] | 08-12-2018
SUB ASSY SHOCK ABSORBER BRKT[90] 08-12-2018
BRACKET ON FRAME[90] 08-12-2018
CLEVIS BRACKET[90] 08-12-2018
CLUTCH ROCKER SHAFT[90] 08-12-2018
SUB ASSY OF DIPSTICK[90] 08-12-2018
TOP CLAMP AD[90] 08-12-2018
FRONT TOE PIN ASSY[90] 08-12-2018
SHACKLE PIN[90] 08-12-2018
CLUTCH OPERATING LEVER OUTER[90] 08-12-2018
STUD[90] 08-12-2018
COPPER WASHERJ[90] 08-12-2018
Banjo Washer C[90] 08-12-2018
C Washer 1 by 8 inch[90] 08-12-2018
Washer part no F4912215[90] 08-12-2018
Washer SPG holding[90] 08-12-2018
Spherical Washer PART NO F4939515[90] 08-12-2018
WASHER PART NO F4952610[90] 08-12-2018
Plain Washer M 6[90] 08-12-2018
Plain Washer M 8[90] 08-12-2018
Plain Washer M 10[90] 08-12-2018

Page 2/14




43

44

45

46

a7

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

Plain Washer M 14[90] 08-12-2018
Plain Washer M 18[90] 08-12-2018
WASHER PART NO X4903610[90] 08-12-2018
Washer M 12[90] 08-12-2018
Washer 18 MM[90] 08-12-2018
WASHER PART NO X4903810[90] 08-12-2018
Washer Spg 1 by 2[90] 08-12-2018
WASHER PART NO F4914300[90] 08-12-2018
Washer M12[90] 08-12-2018
Washer AGB[90] 08-12-2018
WASHER PART NO F4933140[90] 08-12-2018
LOCKING WASHER PART NO F4938210[90] 08-12-2018
WASHER PART NO F4930140[90] 08-12-2018
Spherical Washer PART NO X4904115[90] 08-12-2018
BKT CAB MTG REAR LH[90] 08-12-2018
BKT CAB MTG REAR RHI[90] 08-12-2018
BKT BODY MTG FT DRGJ[90] 08-12-2018
BODY MTG 4TH RH LH[90] 08-12-2018
Spg Washer M 14[90] 08-12-2018
Spg Washer M 5[90] 08-12-2018
Spg Washer M 6[90] 08-12-2018
Spg Washer M 10[90] 08-12-2018
Washer PART NO F4953010[90] 08-12-2018
Washer PART NO F4949110[90] 08-12-2018
Special Washer PART NO F4951215[90] 08-12-2018
Washer PART NO F4943215[90] 08-12-2018
Washer PART NO F4930240[90] 08-12-2018
Washer PART NO X4901810[90] 08-12-2018
BUSH BOLT AGB PART NO X3541715V1[90] 08-12-2018

Page 3/14




72

73

74

75

76

1

78

79

80

81

82

83

84

85

86

87

88

89

90

91

92

93

94

95

96

97

98

99

BUSH BOLT AGB PART NO X3541815[90] 08-12-2018
Adaptor F0129115[90] 08-12-2018
Adaptor X0117615[90] 08-12-2018
Adaptor F7885500[90] 08-12-2018
Adaptor F0122615[90] 08-12-2018
LPTA Set of WASHER[90] 21-02-2019
LPTA Forging for Rev Idler Gear[90] 21-02-2019
LPTA Forging for 2nd Speed Gear on Main Shaft[90] 21-02-2019
LPTA Forging for 4th Speed Gear on Counter 21-02-2019
Shaft[90]

LPTA Forging for Drive Shaft Front Axle[90] 21-02-2019
LPTA Forging for 4th Speed Gear on Main Shaft[90] 21-02-2019
LPTA Forging For 3rd Speed Gear on Main Shaft[90] | 21-02-2019
LPTA Forging for 1st Speed Gear on Main Shaft[90] 21-02-2019
LPTA Forging for Gear Front[90] 21-02-2019
LPTA Forging for Drive Shaft[90] 21-02-2019
LPTA Forging for Steering Lever LH RH[90] 21-02-2019
LPTA Forging for Flange Axle Housing[90] 21-02-2019
LPTA Forging for Steering Arm BS [11[90] 21-02-2019
LPTA Forging for Gear Rear[90] 21-02-2019
LPTA Forging for King Pin Lower[90] 21-02-2019
LPTA Forging for Shifter Sleeve AGB[90] 21-02-2019
LPTA Forging for Over Drive Gear on Counter 21-02-2019
Shaft[90]

LPTA Forging for Rev Gear on Main Shaft[90] 21-02-2019
LPTA Forging for Cont Mesh Gear on Counter 21-02-2019
Shaft[90]

LPTA Forging for King Pin Upper[90] 21-02-2019
LPTA Forging for Main Shaft[90] 21-02-2019
LPTA Forging for Counter Shaft GB[90] 21-02-2019
LPTA Forging for Drive Shaft Rear Axle[90] 21-02-2019

Page 4/14




100

101

102

103

104

105

106

107

108

109

110

111

112

113

114

115

116

117

118

119

120

121

122

123

124

125

126

LPTA Forging for Follower[90] 21-02-2019
LPTA Forging for Coupling Flange RXL[90] 21-02-2019
LPTA Forging for Hub L A Lug Version[90] 21-02-2019
LPTA Forging for Coupling Flange AGB[90] 21-02-2019
LPTA Forging for Counter Shaft AGB[90] 21-02-2019
LPTA Forging For 3rd Speed Gear on Counter 21-02-2019
Shaft[90]

LPTA Driven Disc 21-02-2019
BUSH BOLT Description : BUSH BOLT [ENR 06-03-2019
Registration]

Hinge Driver Hatch Assembly forging Description : 06-03-2019
Hinge Driver Hatch Assembly forging [ENR

Registration]

HINGES FOR REAR DOOR & BONNET[90] 06-03-2019
FORGING FOR LEVER/ HANDLE[90] 06-03-2019
FORGING FOR PIVOT FOR TURRET ASSY.[90] 06-03-2019
HINGE ASSY LOAD BODY LADDERJ[90] 06-03-2019
BUSH FOR MPV ARMY VERSION BUSH[90] 06-03-2019
PUNCHED WASHER A9 TYPE A[90] 06-03-2019
PUNCHED WASHER A11[90] 06-03-2019
SPRING WASHER A12[90] 06-03-2019
TEE PIECE M18 X M18 X M22[90] 06-03-2019
WASHER IS 5370[90] 06-03-2019
HINGE FORGING[90] 06-03-2019
PUNCHED WASHER TYPE B[90] 06-03-2019
BUSH[90] 06-03-2019
HINGE 765 50 2448[90] 06-03-2019
BONNET LIFTING ROD[90] 06-03-2019
SPRING WASHER M24 IS 6735[90] 06-03-2019
SPRING WASHER M 20 IS 6735[90] 06-03-2019
SPRING WASHER A14[90] 06-03-2019

Page 5/14




127

128

129

130

131

132

133

134

135

136

137

138

139

140

141

142

143

144

145

SPRING WASHER A6 IS 3063[90] 06-03-2019
SPRING WASHER A8[90] 06-03-2019
SPRING WASHER A10 IS 3063[90] 06-03-2019
BUSH RR DOOR LOCK([90] 06-03-2019
BUSH 765 58 312 A[90] 06-03-2019
BRACKET 675 57 310[90] 06-03-2019
BUSH DRG NO 610 11 1031 1 A[90] 06-03-2019
SPRING WASHER M20 IS 6735[90] 06-03-2019
WASHER FRONT FLOORING[90] 06-03-2019
FORGING FOR HUB FRONT Description : FORGING | 18-04-2019
FOR HUB FRONT [ENR Registration]

FORG FOR STEERING LEVER BS3 Description : 18-04-2019
FORG FOR STEERING LEVER BS3 [ENR

Registration]

Forging for Output shaft- X-3303311-3 Description : 18-04-2019
Forging for Output shaft- X-3303311-3 [ENR

Registration]

FORGING FOR OUT PUT SHAFT FT Description : 18-04-2019
FORGING FOR OUT PUT SHAFT FT [ENR

Registration]

FORG FOR LAY SHAFT STLN BS 3 Description : 18-04-2019
FORG FOR LAY SHAFT STLN BS 3 [ENR

Registration]

FORG FOR INPUT SHAFT STLN BS 3 Description : 18-04-2019
FORG FOR INPUT SHAFT STLN BS 3 [ENR

Registration]

FORG DRIVING FLANGE Description : FORG 18-04-2019
DRIVING FLANGE [ENR Registration]

FORG FOR RING FOR OIL SEAL INNER Description | 18-04-2019
: FORG FOR RING FOR OIL SEAL INNER [ENR

Registration]

FORG FOR ACTUATER Description : FORG FOR 18-04-2019
ACTUATER [ENR Registration]

FORG FOR GEAR ON LAY SHAFT GEAR LAY 18-04-2019

SHAFT Description : FORG FOR GEAR ON LAY
SHAFT GEAR LAY SHAFT [ENR Registration]

Page 6/14




146

147

FORG FOR GEAR INPUT HIGH BS 3 Description :
FORG FOR GEAR INPUT HIGH BS 3 [ENR
Registration]

18-04-2019

148

FORG FOR SPUR GEAR GEAR INPUT LOW
Description : FORG FOR SPUR GEAR GEAR INPUT
LOW [ENR Registration]

18-04-2019

149

FORG FOR DRIVING SHAFT Description : FORG
FOR DRIVING SHAFT [ENR Registration]

18-04-2019

150

FORG FOR SELECTOR PLATE Description : FORG
FOR SELECTOR PLATE [ENR Registration]

18-04-2019

151

FORGING FOR SELECTOR PLATE Description :
FORGING FOR SELECTOR PLATE [ENR
Registration]

18-04-2019

152

FORG FOR NEEDLE HOUSING Description : FORG
FOR NEEDLE HOUSING [ENR Registration]

18-04-2019

153

FORGING FOR NEEDLE HOUSING Description :
FORGING FOR NEEDLE HOUSING [ENR
Registration]

18-04-2019

154

FORGING FOR PIN Description : FORGING FOR
PIN [ENR Registration]

18-04-2019

155

FORG FOR HUB END Description : FORG FOR HUB
END [ENR Registration]

18-04-2019

156

FORG FOR DISTANCE RING Description : FORG
FOR DISTANCE RING [ENR Registration]

18-04-2019

157

FORG FOR THRUST COLLAR RING Description :
FORG FOR THRUST COLLAR RING [ENR
Registration]

18-04-2019

158

FORG FOR RING FOR OIL SEAL OUTER
Description : FORG FOR RING FOR OIL SEAL
OUTER [ENR Registration]

18-04-2019

159

FORGING FOR LAYSHAFT F3320011-3 [ENR
Registration]

18-04-2019

160

FORG FOR 4th GEAR ON LAY SHAFT Description :
FORG FOR 4th GEAR ON LAY SHAFT [ENR
Registration]

18-04-2019

FORG FOR 3rd GEAR ON LAY SHAFT Description :
FORG FOR 3rd GEAR ON LAY SHAFT [ENR
Registration]

18-04-2019

Page 7/14




161

162

FORG FOR 5th GEAR ON LAY SHAFT Description :
FORG FOR 5th GEAR ON LAY SHAFT [ENR
Registration]

18-04-2019

163

FORG FOR CONSTANT MESH GEAR LAY SHAFT
Description : FORG FOR CONSTANT MESH GEAR
LAY SHAFT [ENR Registration]

18-04-2019

164

FORG FOR SLEEVE STLN BS Il F3427015 3 R1
Description : FORG FOR SLEEVE STLN BS Il
F3427015 3 R1 [ENR Registration]

18-04-2019

165

FORG FOR SLEEVE STLN BS Ill F3424215 3 R1
Description : FORG FOR SLEEVE STLN BS III
F3424215 3 R1 [ENR Registration]

18-04-2019

166

FORG FOR REVERSE GEAR WHEEL ON MAIN
SHAFT Description : FORG FOR REVERSE GEAR
WHEEL ON MAIN SHAFT [ENR Registration]

18-04-2019

167

FORG FOR REVERSE IDLER GEAR BS 3
Description : FORG FOR REVERSE IDLER GEAR
BS 3 [ENR Registration]

18-04-2019

168

FORG FOR 1st GEAR ON MAIN SHAFT Description :

FORG FOR 1st GEAR ON MAIN SHAFT [ENR
Registration]

18-04-2019

169

FORG FOR 2nd GEAR ON MAIN SHAFT Description
: FORG FOR 2nd GEAR ON MAIN SHAFT [ENR
Registration]

18-04-2019

170

FORG FOR 3rd GEAR ON MAIN SHAFT Description
: FORG FOR 3rd GEAR ON MAIN SHAFT [ENR
Registration]

18-04-2019

171

FORG FOR OD GEAR ON MAIN SHAFT Description
: FORG FOR OD GEAR ON MAIN SHAFT [ENR
Registration]

18-04-2019

172

FORG FOR SELECTOR PLATE STLN Description :
FORG FOR SELECTOR PLATE STLN [ENR
Registration]

18-04-2019

173

NEEDLE HSG FINISH STLN X1802115 Description :
NEEDLE HSG FINISH STLN X1802115 [ENR
Registration]

18-04-2019

NEEDLE HSG FINISH STLN X1802215 Description :
NEEDLE HSG FINISH STLN X1802215 [ENR
Registration]

18-04-2019

Page 8/14




174 FORGING FOR BUSHING OUTER Description : 18-04-2019
FORGING FOR BUSHING OUTER [ENR
Registration]
175 LOCKING WASHER SECURING WASHER 18-04-2019
Description : LOCKING WASHER SECURING
WASHER [ENR Registration]
176 LPTA Diff Spider 24 Dia Description : LPTA Diff 18-04-2019
Spider 24 Dia [ENR Registration]
177 LPTA U Bolt with Nut[90] 22-08-2020
178 SP STEERING FORGING PLUG (FUEL TANK INLET | 25-03-2022
PIPE ASSY)[90]
179 Heavy Vehicle Factory LEVER][04] 22-04-2019
180 SPIDER UNIVERSAL[04] 23-04-2019
181 Right hand carrier - 172.62.136[06] 25-04-2019
182 Left hand carrier - 175.62.137[06] 25-04-2019
183 BOLT / 155.06.015[06] 26-04-2019
184 GEAR DRIVE[04] 27-08-2019
185 SUPPORTING SADDLE FOR STARTER 24-11-2023
GENERATOR TO 6206501155[62]
186 CHEEK TO LF 3901043012[39] 30-04-2024
187 Grey Iron Foundry SUSPENSION LUG. SUSPENSION LUG, AS PER 26-04-2019
DRG. NO. AQAW(A)/SK/MISC/14/1 Description :
SUSPENSION LUG. SUSPENSION LUG, AS PER
DRG. NO. AQAW(A)/SK/MISC/14/1 [ENR
Registration]
188 Bush of Base Booster Casing to 26-04-2019
Drg.No.AAIW/BS-0072/2A For Aerial Bomb
100/120Kgs Description : Bush of Base Booster
Casing to Drg.No.AAIW/BS-0072/2A For Aerial Bomb
100/120Kgs [ENR Registration]
189 Small Arms Factory STEEL FORGING FOR LEVER LOCKING FOR MAG | 27-04-2019
Description : STEEL FORGING FOR LEVER
LOCKING FOR MAG [ENR Registration]
190 Forging of block front DSCAT no. SKM-282*4[01] 24-07-2021
191 Steel Forged Trigger for LMG[04] 24-07-2021
192 STEEL FORGED TRIGGER for LMG[04] 24-07-2021

Page 9/14




193

194

195

196

Ordnance Factory Dumdum

CONE RING & KEY WELDING ASSY FOR BTU-450
Description : CONE RING & KEY WELDING ASSY
FOR BTU-450 [ENR Registration]

29-04-2019

CONE RING ASSY FOR BTU 250 Description :
CONE RING ASSY FOR BTU 250 [ENR Registration]

29-04-2019

Flexible Drive Adopter in F C for TU TB 250
Description : Flexible Drive Adopter in F C for TU TB
250 [ENR Registration]

29-04-2019

FORGING FOR STABLIZER BODY IN ROUGH
MACHINED FOR 125MM HEAT. Description :
FORGING FOR STABLIZER BODY IN ROUGH
MACHINED FOR 125MM HEAT. [ENR Registration]

29-04-2019

197

198

199

200

201

202

203

204

205

Gun and Shell Factory

FORGED BODY (FRONT PART) TO OFAJ DRG.
NO. F-9G FOR 81 mm MORTAR BOMB (EMPTY
BODY) Description : FORGED BODY (FRONT
PART) TO OFAJ DRG. NO. F-9G FOR 81 mm
MORTAR BOMB (EMPTY BODY) [ENR Registration]

30-04-2019

FORGED BODY (REAR PART) TO OFAJ DRG. NO.
F-10D FOR 81 mm MORTAR C(EMPTY BODY)
Description : FORGED BODY (REAR PART) TO
OFAJ DRG. NO. F-10D FOR 81 mm MORTAR
C(EMPTY BODY) [ENR Registration]

30-04-2019

FORGING OF SLIDE TO DRG. NO. RFI SK-9073
FOR PISTOL Description : FORGING OF SLIDE TO
DRG. NO. RFI SK-9073 FOR PISTOL [ENR
Registration]

30-04-2019

FORGING OF PINION Description : FORGING OF
PINION [ENR Registration]

30-04-2019

FORGING OF LOCK TO GSF SK NO F 2291
COMPONENT DRG Description : FORGING OF
LOCK TO GSF SK NO F 2291 COMPONENT DRG
[ENR Registration]

30-04-2019

FORGING OF BODY Description : FORGING OF
BODY [ENR Registration]

30-04-2019

FORGING OF UPPER RING 2300 Description :
FORGING OF UPPER RING 2300 [ENR Registration]

30-04-2019

FORGING OF LOWER RING TO GSF SK NO F 2299
Description : FORGING OF LOWER RING TO GSF
SK NO F 2299 [ENR Registration]

30-04-2019

CONNECTING ROD TO DRG NO 9 A 621 06 005 IN
FC Description : CONNECTING ROD TO DRG NO 9
A 621 06 005 IN FC [ENR Registration]

30-04-2019

Page 10/14




206

207

FORGING OF CONNECTING ROD TO GSF SK NO
F 2298 Description : FORGING OF CONNECTING
ROD TO GSF SK NO F 2298 [ENR Registration]

30-04-2019

208

FORGING OF THRUST RING TO GSF SK NO F
2294 Description : FORGING OF THRUST RING TO
GSF SK NO F 2294 [ENR Registration]

30-04-2019

209

PNEUMATIC PISTON TO DRG NO AO 18 03 005
Description : PNEUMATIC PISTON TO DRG NO AO
18 03 005 [ENR Registration]

30-04-2019

210

BODY TO DRG NO AO 18 03 013 Description :
BODY TO DRG NO AO 18 03 013 [ENR Registration]

30-04-2019

211

FORGING FOR CONNECTING PIPE PIPE UNION
TO DRG NO Description : FORGING FOR
CONNECTING PIPE PIPE UNION TO DRG NO [ENR
Registration]

30-04-2019

212

PINION SHAFT TO DRG NO AO 18 03 019
Description : PINION SHAFT TO DRG NO AO 18 03
019 [ENR Registration]

30-04-2019

213

PINION TO DRG NO AO 8 03 025 Description :
PINION TO DRG NO AO 8 03 025 [ENR Registration]

30-04-2019

214

BUSH TO DRG NO AO 18 03 008 Description :
BUSH TO DRG NO AO 18 03 008 [ENR Registration]

30-04-2019

215

STAMPING FOR RELEASER DRG NO F 2279
Description : STAMPING FOR RELEASER DRG NO
F 2279 [ENR Registration]

30-04-2019

216

LEVER DRG NO AK 630 106 2 Description : LEVER
DRG NO AK 630 106 2 [ENR Registration]

30-04-2019

217

LEVER DRG NO AK 630 106 7 Description : LEVER
DRG NO AK 630 106 7 [ENR Registration]

30-04-2019

218

FORGING DRG NO F 2286 FOR REMOVER TO
DRG NO 9 A 62 Description : FORGING DRG NO F
2286 FOR REMOVER TO DRG NO 9 A 62 [ENR
Registration]

30-04-2019

219

FABRICATION OF STEEL FORGING FOR
CARRIAGE DRG NO Description : FABRICATION
OF STEEL FORGING FOR CARRIAGE DRG NO
[ENR Registration]

30-04-2019

FABRICATION OF STEEL FORGING FOR LOWER
CRANK UPP Description : FABRICATION OF STEEL
FORGING FOR LOWER CRANK UPP [ENR
Registration]

30-04-2019

Page 11/14




220 Machine Tool Proto Type Factory 3996406168 INTERMEDIATE GEAR FORGING TO 27-09-2019
DRG NO 175 45 005 F[39]

221 MAIN BODY FOR POINT DETONATION FUZE 04-10-2019
EMPTY MK Il AS PER ODC DRG NO 140 21 31
00[71]

222 INTERMEDIATE GEAR FORGING DRG NO 175 45 24-02-2020
005 F[39]

223 RING NUT FOR OGIVE 155 PD, 24-02-2020
DRG.NO.140-01-13-00, BRASS BS249[99]

224 Ordnance Factory Tiruchirapalli PREMACHINED BLANK FOR TAR TRUNNION K 06-03-2020
4002 COMPONENT AS PER DRG NO TEND
2616[70]

225 SUPPLY OF HAMMER AS PER DRG NO K 2061 05-10-2022
STAR2 WITH FIRMS MATERIALJ[70]

226 SUPPLY OF PIN AXIS HAMMER TO DS CAT NO 05-10-2022
5315 009115 DC NO[70]

227 HAMMER FORGINGS TO DRG M6 0001E FOR 05-10-2022
RIFLE 7POINT62 MM 1A1 WITH FIRMS MATERIAL
ICR 1256 FULLY FINISHED CONDITION 5000 NOS
2500 SETS[70]

228 SUPPLY OF HOUSING HAMMER SPRING TO DS 05-10-2022
CAT NO 1005 001682 WITH DC NO 24979 SA DT 27
03 2001 IN FULLY FINISHED CONDITION ICR
1332[70]

229 SUPPLY OF STAY HAMMER TO DRG No TEND 05-10-2022
2016 WITH FIRMS MATERIAL ICR1333[70]

230 44P03010 20MM HAMMER CAM PLATE[70] 05-10-2022

231 44P14006 14 5SMM HAMMER CAM PLATE[70] 05-10-2022

232 HAMMER TO DRG NO 44P06013[70] 05-10-2022

233 Ordnance Factory Khamaria SUB ASSEMBLY OF DETONATOR DISC AND 02-01-2023
PARALLEL PIN FOR FUZE FB 40 FOR 40 MM PFFC
LF 9911358194[99]

234 5TH SET OF 8 ITEMS FOR MMHG L F 02-01-2023
9911358528[99]

235 4th SET OF 3 ITEMS FOR MMHG L F 02-01-2023
9911358527[99]

236 Ordnance Factory Muradnagar DETONATOR HOLDER 1000 LBS MCD L F NO 30-05-2023

6220900700[62]

Page 12/14




237 LUG HOUSING HOLDER 250 KG L F NO 30-05-2023

6240100124[62]

238 NOSE PLUG ARM 1049B 1000 LBS L F NO 30-05-2023
6220901044[62]

239 NOSE PLUG W O PHOSPHATED 250 KG L F NO 30-05-2023
6240900504[62]

240 FILLING PLUG FORGING 1000 LBS L F NO 30-05-2023

2015995448[20]

241 THRUSTER PLATE FOR 1000 LBS L F NO 30-05-2023
6220200120[62]

242 SHOE TO DRG NO 219 35 126 TRACK T 90 ITEM | 30-05-2023
CODE 6120100196[61]

243 CLAMP TO DRG NO 172 55 025 TRACK T 90 ITEM 30-05-2023
CODE NO 6120100130[61]

244 FORGING FOR LUG 243 AS PER DRG FOR 1000 30-05-2023
LBS L F NO 6220700172[62]

245 FORGING FOR LUG 318 FOR 1000 LBS L F NO 30-05-2023
6220601406[62]

Registration No. : RKTU00099B
Initial Date of Registration : 11-09-2018
Downloaded at : 11/01/2025 07:18 am

Conditions of Registration:

This Registration has been carried out based on self-declared documents furnished by Vendor.
Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the
Registration Authority immediately.
3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.
Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

This is a system generated certificate. Hence no separate signature is required.

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

Page 13/14



Page 14/14


http://www.tcpdf.org

